A & 0l & AHH Z A M
2000 20ilak LEHS|H|
S ZAE D
HH: G AR PENE
Rl TAIEH 2l = kE=1=)
SA B ER(S) - MRAE - BaS Of &r e HIDE
SAIAI= D 1,770,376 3,949,405 A2,179,029
= 686,940
S 49,260
Al 1,034,176
CAS2E AX0HE 1,116,036 1,651,010 A534,974
= 686,940
Al 429,096
S AIEHl 2el 987,940 1,515,050 A527,110
= 686,940
Al 301,000
HEN e+ =X 987,000 1,507,000 520,000
= 686,000
Al 301,000
203 YR=&H| 7,000 7,000 0
03 AHFIHR=IH| 7,000 7,000 0
OZAIHE & Yl FHES 7,000,000 7,000
401 AIEBIXL 2 THEI 980,000 1,500,000 A520,000
= 686,000
Al 294,000
01 Al&H| 980,000 1,500,000 A520,000
O Het =9 =R A 980,000
—gXFE A2 L TRIHA
850,000,000 » 14| 850,000
= 595,000
Al 255,000
—SEFH T2IHE AAEA
130,000,000 14 130,000
= 91,000
Al 39,000
Heme 7o 2l 940 8,050 AT,110
[ 940
201 Let=2d| 400 2,050 1,650
= 400
01 AtR2t2ltl 400 2,050 A1,650
OBt s S| 400,000 * 14! 400
s 400
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S AIH =2
A2 A0HE
&2l TAIEH 2el

- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
202 o4l 540 6,000 25,460
s 540
01 =3LHAbI 540 6,000 25,460
O Het+S == bl 540,000 14! 540
s 540
SAHE Z2H 128,096 135,960 AT,864
SAANEZE BEY HE 70,000 70,000 0
207 AN 70,000 70,000 0
01 &9 70,000 70,000 0
OZAIHEZE BEd 2E 29
7,000,000 %1090 2~ 70,000
SAAE Z2F 22 58,096 65,960 AT,864
201 LptR3d] 58,096 65,960 AT7,864
01 AtR2el 58,096 65,960 AT,864
OZAIZelHE 28 23102
34,0003 +4Hx12cm*2 0 Ab+93] 29,376
OZAHERIE 22 28,720
— &8 70,000% 37 Z *102] *80% 20,720
—=J|1 29| 500,000& x 103! 5,000
— &I okA QIAfib| 300, 000& *10=] 3,000
S8R0 XH22 377,481 89,312 288, 169
= 49,260
Al 328,221
IHESAIKIOE ZAL 45,774 47,334 A 1,560
INEZAIXIDE &F 45,774 47,334 21,560
201 2ptR3d] 45,774 47,334 21,560
01 ArR2teld] 45,774 47,334 21,560
OINESAIXIL B3 =8 33,079
— &R ES 23,465
=
38,0002 *32, 5002 X| /41%50%+1.1 16,568
S
38,000% *1, 100& XI*50%*30%+*1. 1 6,897
—dYHS 9,614
- SlAME(23])
38,0003 *2002! X|*50%*30%+*1. 1 1,254




2A: SAHE D
M 2580 XH 22
CHRl: JHE S AIXIOF A (el &)
A" G(3) - MPAY - B Ofl &t e HIDE2
- 01281 F (23])
38,0003 #4002 K| x50%+1. 1 8,360
OIMESAIXIOL M-SR L ARtz QM 8,49
—H&EX] 55,0003 *3 A x33] 495
—ao Xtz 700,000 53] 3,500
—HESAIXIL 2ESXE SESAN A
X(HIIZ2,=A2) 753 %60,000H 4,500
ORSHEIISIAS 21 HMag
70,0003 *12H +53] 4,200
H=AMA 25 43,960 18,880 25,080
MEEZR2H E2Y 20 40,960 6,780 34,180
201 et 39,160 4,980 34,180
01 ArR2eld] 39, 160 4,980 34,180
OM=22&33 29Y 3,160
-3 &g 70,0002 x7H 43| 1,960
—dloktg 7ol 300,000& *43] 1,200
OM=4 Jid & Hdl 29
36,000,000 *14] 36,000
202 o4l 1,800 1,800 0
01 =3LHAbI 1,800 1,800
OE2HER0 A SEOYI
10,0002 *3H x60 1,800
M=AAE HEE EE 3,000 12,100 29,100
201 LU 3,000 12,100 29,100
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OM=AFHl 222 AN M
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EXo g8 29 287,747 23,098 264,649
L= 49,260
Al 238,487
Ne2gad Ui 15,540 18,800 A3,260
201 pt2dd] 7,040 8,800 A1,760
01 ArR2eld] 7,040 8,800 1,760
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800,000 x4 Z X[*2IH At+1.1 7,040
207 AIHYHI 8,500 10,000 A 1,500
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01 &9 8,500 10,000 21,500
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201 Ler2g 3,908 4,298 A390
02 =324l 3,908 4,298 A 390
OEXNEZSEEY S/ FXIE==H|
325,600 *12I0 & 3,908
405 XHeHFSHI 22,000 0 22,000
01 X EZFSHI 22,000 0 22,000
OXNEZZRU(ZNDSSAAY) 7Y
22,000,000& * 14! 22,000
FRE XNE JIESHLE 246,299 0 246,299
= 49,260
Al 197,039
207 SAIHEHI 246,299 0 246,299
= 49,260
Al 197,039
02 HADHEY| 246,299 0 246,299
OgxA XN&EIIZES HASHALY 246,299
—EX0IsZ2AN 6052 220, 30004 133,282
< 26,657
Al 106,625
—SEEE 7,260 15,567 0H 113,017
= 22,603
Al 90,414
ANelE3E S2MHIA 7 87,978 75,978 12,000
K2lBEAIAR(GIS) 29 87,978 75,978 12,000
AAE 2 S/W KKI2el 75,978 75,978 0
201 Ler2d 75,978 75,978 0
01 AtR22 2,680 2,680 0
OZZHsS THEEHY 423 2 2,680
—22H X 75,0003 *1&- XH+6H 450
—224 23 1,280
=1 320,000 = 1H 320
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S AIH= 2

A N2lHE D2AMHA P
chel: XelZZEAAEGIS) 22 (e &
SA - HH SR (B) - MRAY - BAS il &t e imE=T
== 320,000 344 960
—Zdlold &3 950
=1y 200,000 =14 200
L 250,000 324 750
02 E32gH| 73,298 73,298 0
OGIS 2LHEH| FAIE==H| 1,000,000& * 14! 1,000
OXCIZEAMAE SN X224 72,298
—SZADIEAIEE 2l Z20™
372,296,000 *10% 37,230
—Xeld8 T2 185,400, 000& *10% 18,540
—GIS32B ¥ 22 E 165,276,000 *10% 16,528
AMAE A5 12,000 0 12,000
405 KHEHFSHI 12,000 0 12,000
01 MR ESFHEHI 12,000 0 12,000
OEAEEBAH 4 12,000, 000% * 14 12,000
HE2AZHI (S AIHE D) 88,881 83, 105 5,776
oIz 21,921 21,905 16
o124H| 17,721 17,705 16
101 Il 17,721 17,705 16
09 RIAHAZZXES 17,721 17,705 16
OZA=Z - HE1S= F54 12| 17,721
=Jl2g 871,240 x1H+12& 10,455
—&03 10,454,880 x 12 *4/12 3,485
i PNE = 30,3203« 1«15 455
— X2 5,685 18 *15A| 2Hx12& 1,024
—elsSA== 50,0003 «1H«12& 600
— 203 20,000& *12& 240
—=HA=RE= 16,257,940 *45/1,000 732
— AL EERYEZ
o 16,257,940 *23.85/1,000 388
—JEEE= 16,257,940 *13/1,000 212
—&MEEZ 16,257,940 +7/1,000 114
—LOIRAEBEE 388,000 *4.05/100 16
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A SAIHED
M HHPAAHI(ZAIHEDL)
cHol: ol 2| (5@
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
=244 4,200 4,200 0
203 HRF&H] 4,200 4,200 0
04 EN2EHRFLHI 4,200 4,200 0
ORNM2EIERFA| 350,000& x12& 4,200
o123 66,960 61,200 5,760
Jl2&| 30,480 30,480 0
201 LptR3d] 30,480 30,480 0
01 AtR2el 27,360 27,360 0
ORAM2YIIE223H] 25,920
—pt=Z| 50,0003 24H x12& 14,400
— =l 40,0003 24« 12& 11,520
O=A| gxt=2 120,000 *1CH+ 123 1,440
02 222944l 3,120 3,120 0
OgHstd sgHE 252 3,120
— NS XA 140,000 = 1CH 140
—AUsi BE= 280,000 = 1CH 280
— XSl (=2l, 27, Z2AZ)
2,700,000 *1CH 2,700
oyl 36,480 30,720 5,760
202 O4dl 36,480 30,720 5,760
01 LAY 36,480 30,720 5,760
OYRFAII20| 120,000& x24% « 12 34,560
OZAASY JHEHE RS S AR &
=0l 10,0003 «4H 4L« 12& 1,920
MPES(SAIHED 100,000 100,000 0
LHEHHKI = 100,000 100,000 0
ZII01EE DIEtEEsIH HE3 100,000 100,000 0
701 JIEISIHEES 100,000 100,000 0
01 JIEtIHEES 100,000 100,000 0
OoINEd SEH dE=
100,000, 000& * 14! 100,000




